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2.4.1 Yadunuuen1Baqglin (Present worth 3 PW)
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2.4.3 YA NNUUNITIUY (Annual Worth 3 AW)
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(Single-Payment Factors)

2.5.1 WIPAARNUUNIDUIAN F ¥293% P (F/P Factor)
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> o F = P(F/Pqi%qn)
0 1 2 n 4
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W¥g0s  F = P(1+])
Fa = 1,000(1 + )T = 1,331
Given P Find F

F/P

Fa = 19000 (F/Pq 9 ) = 19331 13
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Capital
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factor
AP

Compound
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worth
factar

SIA

(Gradient
COMVersion
factor
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(03744
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006275
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0.17304
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. = 6,442
Vaos p - —2 - - 4,000

(1+1)" (1+0.10)°

0.62092

L% Factor PW = 6,442 (P/F,10%,5) = 4,000
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Tunluv19udtn

WIas  F = P+
LUON1519 F = P(F/P,1%,n)
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s P = F
(1+)"
LUORN1519 P = F(P/F,i%,n)
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6,000(F/P,8%,4)

7,000 6,000 > 4,000(F/P,8%,8) |

4,000 )
2,000(F/P48%410)
01 2 3 4 5 6 7 8 9a 1% |

01 2 3 4 5 6 8 919

2.1589 1.8509 1.3605
= 7,000(F/P,8%,10) + 4,000(F/P,8%,8) + G,000(F/P,8%,4)

F = 3096?8 090 22
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M99¢119N 8 A9R1WIAWNYUN1 VUL (PW) N1u%& T = 10% 61U

1,000

. T 4

0'1 2 3456 % 89170 M 12 13 14 15 16 17 18 U

0.4241
PW = 1,000(P/F,10%,9) = 4241
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M99¢119N 8 A9R1WIAWNYUN1 VUL (PW) N1u%& T = 10% 61U

1,000

* 1 | )

1 2 3456 % 8910 M 12 13 14 15 1% 17 18 U

0.4241
PW = 1,000(P/F,10%,9) = 4241

1.331 1.2 0.26333
PW = 1,000(F/Py10%s3) (F/P,10%,2) (P/F;10%,14)

= 424 1
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aaNLlly TOUAT 10% 61D

0.90909 0.82645 0.75131
PW = 1,000(P/F510%41) + 1,000(P/F;10%52) + 1,000(P/F310%,3)

0.68301 0.62092

1,000(P/F310%,4) + 1,000(P/F510%,5)

= 39?90 .8
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fxn¥a%A1 (Uniform Annual Series)
2.6.1 RIYAANNuUN1VAUK P ¥9903% A (P/A Factor)

sy udngecdudonidiug P J09

mgwx{i'n A
m%u,m 1 999

P = AL(1+)"-1]

[i(1+D)™

LU6611519

P = A(P/A,i%gn)
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fxn¥IA1 (Uniform Annual Series)

2.6.2 MIYAARNUULNIUING F ¥993% A (F/A Factor)

nsgudnyerdusiouiéiua F J09

F = AL(1+1)"-1]
i

fugame L Ue§1519
F = A(F/A,i%,n)

ani A
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N1UKED61T10N UL 10% 6191

3.7908
PW = 1,000(P/A,10%,5) = 3,790.8
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3 4 59

300(P/Ay5%43)

300(P/Ay5%43)(P/Fy5%2)

. 2.7232 0.90703
NINWU PW = -300(P/As5%s3)P/Fy5%,2) = -?41.0397
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400

RETEEN

11{6?8 1011121314-15161?181.\

2.7232 1.40M
F9 = -300(P/A95%93) (F/P,5%,?)
5.0?5% 1.1576
+400(P/Ay5%46) (F/Py5%43)

4.,3101 0.64461

= 2,589.87 32
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finnndaaaan (Uniform Annual Series)
2.6.1 (1) W1YAANNLUNITIWY A ¥293% P (A/P Factor)

A13nIEAudUToU P Lluduge A J09

A = PLi(1+N)"]

A U P R19N% 1 F99 [(1+]) -1

N

LU6611519

A = P(A/Pgi%gn)

O 1 2 3 &4 s n 1 33
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finnndaaaan (Uniform Annual Series)
2.6.4 WIPAAWNLUN1TI1UY A ¥993% F (A/P Factor)

A13nIEauduion F Lluduge A J09

A NIUIONILDLIE1bRWUILOEIINU F T S
* “ [(1+1)"-1)

J \ U119

A = F(A/ng%gn)

O 1 2 3 4 s n U 34
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AW, _.
i = 7% noll
0

1 2 3 4 51

I 1000(F/P,7%,2)

O 1 2 3 4 51

@ 1000(F/P,7%,2)(A/P,7%,3)

O 1 2 3 4 5 i

9 1.0700 0.86384
Q/ Qv

AU AW, . = 1000(F/P,7%,1)(R/P,7%,3) = 147.392
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1100
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o

1.0500 0.86384 0.36721
AW, _. = [300(F/P,5%,1)+100(P/F,5%3)1(A/P,5%,3) = 147.392
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(Uniform Annual Series)

2.7.1 w1yadnNuun1aqlin P ¥9943% 6 (P/6 Factor)

Mg udnge 6 (lududoudius p J09
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ANKUA G AMULSN 2 897 LUORNT19

P = G(P/Gyi%yn)
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O 1 2 3 53
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AU PW = 300(P/G,5%,4)(P/F,5%.1) = 1457.944
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1 2 3 4 5 6
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(4.31013)  (0.86384) (8.23692) (0.78353)
PW = 200(F/A,5%,4)(P/F,5%,3) - 100(P/G,5%,5)(P/F,5%,5) = 99.265
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300(F/A,2%,3) 300
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P = G(P/Gyi%sn)
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100 20 o} -0 P OINNURUINIULTN 2 F99
0 n = AMBIRNI% + 1

A% LNy 6
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200 500 F1uusn = 300 = A | TNNOURRWINLIA 1
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> 45
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